Unit 10 Remediation Objective 10

Interpret Data using Stem and Leaf Plots

Stem-and-Leaf Plot- Displays data by dividing each element into two parts. Each leaf on the
plot represents the right-hand digit in the data value, and each stem represents the remaining
left-hand digits. The key shows the value of the data on the plot.
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Key: 6 /3 means 63 °F

Back-to-Back Stem-and-Leaf Plot- Used to compare two sets of data. The leaves of one set of
data are on one side of the stem and the leaves for the other set are on the other side of the

stem.

Phone Battery Comparison

“Brand A"

& w
& i mg
& Wl
X S
[ ]

STEM

*Brand B®

LEAF

e

i N B G R b

5 4
2
4

=N 3

5557
2287
458

&

&

Key: 6| 1281 hoori:

This compares two sets of batteries brand A and B in

one plot. The first digit is tens unit and second is ones unit in hours.

Question: Which battery lasts the longest and how many hours did it last?

Answer: Brand B and it lasts for 75 hours.



Use the Stem-and-Leaf Plots to answer the questions.
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Women's: R]6[ = 65 inch-tall wonein
Mensy [ 7]2 = 72 inch-tull man

1. Use the plot above, how many men are at least 70 inches?
Using the stem-and-leaf plot, how many women were surveyed?

[n the plot above, what was the height of the tallest woman?
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What is the range of heights?
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5. Using the stem-and-leaf plot above, what was the total number of birds to

visit the feeder?
6. How many days did they survey?

7. How many days did the feeder have more than 26?



